Math 231. Quiz 5 (24 minutes) Name:
Brief Table of Laplace Transforms

Function Example

L[0] =0 N/A

Cld =< £[231) = 2

£l =" £l = 4

Lle™] = X L") = =

Lle®t"] = (572)!%1 Lle*t!] = (Sf;)5

Llcos(bt)] = =3 Llcos(Tt)] = =i

L[sin(bt)] ng’er L[sin(7t)] = 52149

Lle cos(bt)] = =5t L[e™ cos(3t)] = 519

L[e™ sin(bt)] = M+er2 Lle sin(3t)] = (5753)2+9
Llaf(t)+bg(t)] = aLl[f(t)] + 0L[g(t)] | L2+ 5t] = L[2] + 5L]¢] +5(%

1. (6 points) Compute £[2¢™" — 3e* cos(t)].

2. Compute the inverse Laplace transforms.

3 2s+1
. -1 |2
(a) (7 points) L [33 + 211 4}
3s+1
: -1
(b) (7 points) L {52 — 1}



